
VINGLI RATTAN DRESSER



rattan dresser





140 x 45 x 83 cm (L x W x H)
55 x 17.7 x 32.7 inch (L x W x H)

Nature Rattan
Boho & MCM Style
6 Large Drawers
Solid Wood Legs

120-180 mins



1

2

3

4

5

6

6

6

6

6

7

7

8

9

10

11

15

8

9

10

11

12

12

8

9

10

11

12

9

10

11

16

16

16

12

9

10

11

12

9

10

11

12

13

14

15

15

15

15

15



COMPONENTS

5

1 2 3

4 5 6

7 8 9

10 11 12

13

16

x1Top board Left panel Right panel

Middle panel Bottom board Leg

Cross bar Drawer front board Drawer back board

Drawer left board Drawer right board Drawer bottom board

x1 x1 x5

x2 x3 x6

x6 x6 x6

x1

14

x1

15

x6

x1 x1

Drawer front board x3

Upper back panel Lower back panel Support Slat



COMPONENTS

6

A B C

D E F

G H I

J K L

M N

x14

x30 x6 x6

x5 x48 x12

x28 x2 x2

x2 x2

O

x1

x40 x40

4x30mm

6x30mm

6x60mm

5x40mm

4x20mm

3.5x40mm

+2(spare) +2(spare)

+2(spare)

3x12mm
+2(spare)

2x10mm
+2(spare)

+1(spare)

4x14mm
+2(spare)

Wood dowel Cam bolt Cam lock

Screw Drawer knob Screw

Screw Screw Drawer slide

Screw Anti-tip bracket Washer

Screw

P Q

x6 x1

4x35mm

Screw

Wall plug Allen wrench 

Wood dowel



ASSEBMLY STEPS

7

STEP 1

I

x12

I1

I

I2

Drawer slide

New panels & accessories needed in below step

Separate the two sections(I1 and I2) of drawer slide (I) as shown below.
I1: Drawer slide
I2: Drawer-slide bracket



ASSEBMLY STEPS

8

STEP 2

B

x2

B

B

3

2

Cam bolt

New panels & accessories needed in below step

Turn two cam bolts (B) clockwise on #2 left panel and #3 right panel.



ASSEBMLY STEPS

9

STEP 3

3

2

I1

x6

H

x12

I1

I1

I1

I1

I1

I1

I1

H

H

H

H

H

H

H

H

Drawer slide Screw

New panels & accessories needed in below step

Align the holes of drawer slide (I1) and #2 left panel & #3 right panel, then fix 
the slide with screw (H).

H

H

H

H

H

Note:  
1.Please ensure that the pre-drilled holes are located at the center of the track holes.  
2.Ensure tracks are straight and level
3.Please make sure to install the screw at the center of the hole position, 
   otherwise the drawer will not be aligned 

G1

H



ASSEBMLY STEPS

10

STEP 4

I1

x6

H

x12

I1

I1

I1

I1

I1

I1I1
H

H

H

H

H

H

H

I1

H

4

4

Drawer slide Screw

New panels & accessories needed in below step

1.Align the holes of drawer slide (I1) and #4 middle panel.
2.Fix slide on the front and back of #4 middle panel with screw (H).
3.Insert cam bolt (B) into the holes of #4 middle panel (back and front).

G1

H

G1

H

H

H

H B

B

B

x2Cam bolt



ASSEBMLY STEPS

11

STEP 5

3

4
C

C

Q

A

C

A

x1 x2

C

7

Wood dowel

Q

x1Wood dowelCam lock

New panels & accessories needed in below step

1.Insert wood dowel (A) into the holes of #7 cross bar. 
2.Connect #3 right panel & #4 middle panel to #7 cross bar then tighten cam 
lock (C) clockwise.



ASSEBMLY STEPS

12

STEP 6

4

3

2
C

C

A

C

A

x1 x2

C

7

Wood dowel Cam lock

New panels & accessories needed in below step

1.Insert wood dowel (A) into the holes of another #7 cross bar. 
2.Connect #2 left panel & #4 middle panel to #7 cross bar then tighten cam 
lock (C) clockwise.

Note: 
To prevent the joint on the panel from breaking, it is important to have two people 
lift the cabinet if necessary after completing this step.



ASSEBMLY STEPS

13

STEP 7

5

6

6

6

6

G

O
G

G

G

G

G

x5 x1

O

6

Screw Allen wrench 

New panels & accessories needed in below step

Line up the holes of five #6 legs and #5 bottom board, then attach legs to #5 
bottom board with screw (G) and allen wrench (O).

Note: 
Don't push or drag! To prevent damage to your furniture, please avoid dragging or pushing 
it once the legs are assembled and instead lift it carefully.



ASSEBMLY STEPS

14

STEP 8

2

3

4

5

A

A A

A
A

A

P

P

P

P

P

P

A

x6 x6

P

ScrewWood dowel

New panels & accessories needed in below step

1.Insert 6 wood dowels (A) into the holes of #2, #3 and #4 board.
2.Align the holes of #5 bottom board and #2, #3 and #4 board then connect them 
by tightening screw (D) clockwise.



ASSEBMLY STEPS

15

STEP 9

1

B

x6

K

x2

L

x2

B

B

B

B

B

B

L

K

L

K

Cam bolt ScrewAnti-tip bracket

New panels & accessories needed in below step

Tighten cam bolt (B) clockwise on #1 top board.
Tip: Put soft rug or packaging paper under board to prevent scratches.then attach 
anti-tip bracket (K) to back panel with washer (L)



ASSEBMLY STEPS

16

STEP 10

1

2

3

4

C

C

C

C

C

C

A

A

A
A

A
A

C

A

x6 x6

C

Wood dowel Cam lock

New panels & accessories needed in below step

1.Make the nightstand stand up straight.
2.Insert wood dowel (A) into the holes of #2, #3 and #4 board.
3.Attach #1 top board to #2, #3 and #4 board by turning cam lock (C) clockwise.



ASSEBMLY STEPS

17

STEP 11

1

3

13

14

J
J

J

J

J

J
J

J

J

J J

J

J

J

J
J

J

J

J J

J J

J J

J J

J J

J

x28Screw

New panels & accessories needed in below step

Install #13 upper back panel and #14 lower back panel with screw (J).



N

M

N

M

1

2

ASSEBMLY STEPS

18

STEP 12

M

x 2

N

x 2Screw Wall plug

New panels & accessories needed in below step

Insert the wall plug (N) into the pre-drilled hole in the solid wall then attach the 
dresser to the wall and tighten with screw (M).



ASSEBMLY STEPS

19

STEP 13

B

x30

B
B

B

BB

x3

16

B
B

B

BB

x3

8

Cam bolt

New panels & accessories needed in below step

Tighten cam bolt (B) clockwise on #8 drawer front board.



ASSEBMLY STEPS

STEP 14

I2

x12

H

x24

H

H

H

H

x6I2

I2

10

11

20

ScrewDrawer-slide bracket

New panels & accessories needed in below step

Align the holes of drawer-slide bracket (I2) and #10 drawer left board & #11 
drawer right board, then turn the screw (H) clockwise.



ASSEBMLY STEPS

21

STEP 15

D

x24

x6

D

D

D

D

9 11

10

Screw

New panels & accessories needed in below step

Attach #10 drawer left board and #11 drawer right board to #9 drawer back 
board with screw (D).



D

ASSEBMLY STEPS

22

STEP 16

D

x6

x6

9
11

10

15

Screw

New panels & accessories needed in below step

Align #15 Support Slat with the hole in #9 Drawer back board, and tighten with 
screw(D) clockwise.



ASSEBMLY STEPS

23

STEP 17

9

x6

12

Insert #12 drawer bottom board into the grooves in drawer side boards and 
back board.



ASSEBMLY STEPS

24

STEP 18

C

x3

F

E

C

C

C

C
C

C

x15

E

x3

F

x3

8

9

ScrewCam lock Drawer knob

New panels & accessories needed in below step

1.Thread drawer knob (E) onto #6 drawer front board with screw (F) then tighten 
the screw clockwise.
2.Insert pre-installed cam bolts on #8 drawer front into the holes of drawer side 
boards, and tighten cam lock (C) clockwise.



ASSEBMLY STEPS

25

STEP 19

C

x3

F

E

C

C

C

C
C

C

x15

E

x3

F

x3

16

9

ScrewCam lock Drawer knob

New panels & accessories needed in below step

1.Thread drawer knob (E) onto #6 drawer front board with screw (F) then tighten 
the screw clockwise.
2.Insert pre-installed cam bolts on #16 drawer front into the holes of drawer side 
boards, and tighten cam lock (C) clockwise.



ASSEBMLY STEPS

26

STEP 20

16

16

16

8

8

8

1

2

Attach drawers to nightstand as shown below.
Attention: please align the slides on the drawer and nightstand first then 
horizontally push the drawer into place, or the rail would be damaged.



ASSEBMLY STEPS

27

STEP 21
Fully assembled nightstand is shown in the below figure.
Just enjoy it!



28


